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m 58 OVERRYZSR BT [T (Strong Static Typing)
<—->EIRYEBY{T(T (e.g. Scheme, Perl),
55 UVBY{F (S (e.g. C, C++)
s BHESR
<—> BIDBRREY/SIETE (e.g. STL (C++))
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OCaml 12%97U% (1)

[ oi wa@ar p] ~> ocaml
(bj ective Canl version 3.04

# 1 + 2;;

- 1int =3

# #use “test.ml”;;
- . Int = 3;

- . string = “Test”

# AD
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OCaml 125 7JU%5 (2)

> > > 3
s TS —IE
# 1 + 2.0;;

Thi s expression has type float but
IS here used with type int

m Emacs & D&
ocaml-mode

ocamldebug
FULIEY 277 ILEEE
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EDEFZZFIA (1)

o ® ® ®

mletX: PV ITUNIVDIEDESE
# let a = 3;;
val a : 1nt =3
# let f x = x + 1;;
val f : int ->1nt = <fun>
# f a;;

- . Int = 4
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mlet..in: O—HNIVEES

# let x = 2;;

X . 1nt =2

# let Xx = 3 1n X + X;;

- Int =6

# X5,

- Iint =2

# let f x = x + x in f 2;;
- . 1int =4
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fHdrABES (1)

m BEEY (int)

# (3 +5) *8 / -4;;
Iint = -16

#5/ 4;;
Iint =1

# 5 mod 4;;
int =1

# 3 < 2;;
. bool = false
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fHdrABHE (2)

n %Y (float)
# (3.0 +. 5.0) *. 8.0 /. -3.0;;
- : float = -21.333333
# 1.41421356 ** 2.0;;

- . float = 2.000000; ;
# 3.0 < 2.0;;

- : bool = fal se
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fHdrAES (3)

s E{4{E (bool)
#2 <3 &% 2.0 >= 3.0::

. bool = false
# 2 <3 || 2.0 = 3.0;;
bool = true

# not (3 < 2);;
bool = true
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fHdrABES (4)

m M F51 (string)
# “str” A "ing”;;
- . string = “String”
# print_string “Hello¥nworld¥n”;;
Hel |l o
Worl d
- ounit = ()
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fHdAHE (5)

= Tuple
# (3 +5, 5.0 -. 1.0);;
- . 1nt * float = 8, 4.000000
# fst (3, 2);;

- . Int =3
# snd (3, 2);;
- o int = 2

# (3, true, “A”);;
- . Int * bool * string = 3,true, “A”
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FIENEE (1)

m 9% (function)
# let f x = x + 2;;

val f : int ->1int = <fun>
# f 2;;

- Int =4

# fun x -> x + 2;;

- . int ->1nt = <fun>

# (fun xX -> x + 2) 2;;
- o 1nt =4
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FIENEE (2)

: 4
m %5 | ZNEAEN
# let fxy=x%* (X + VY);;
val f : Iint ->1nt ->1nt = <fun>
# f 2 4;;
- Int = 12
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FIEXEE (3)

n [55] %5 |2NEENDES
= 73V —1{E (Curried) X1
# let T Xy = X + y;;

val f : int ->int ->1nt = <fun>
# f 2;;

- . int ->1nt = <fun>

# (f 2) 4;;

- . Int =6
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fHd»AHDIEIL (1)

O 1_JFEH-IE (let .. ee)
n SR

# let f x = 1f x < 2

then “smaller than 2”

else “not smaller than 27;;
val f . int -> string = <fun>
# f 1;;
- . string = “smaller than 27
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fHd»AHDIEIL (2)

» FB)REEN
# let rec fib x =
if x < 2 then 1
else fib(x-1) + fib(x-2)
val fib : int ->int = <fun>
# fib 10;;
- . Int = 89
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fHd»AHDIEIL (3)

= FBIREAEN ()

# let rec pow x n = if n =0 then 1
else x * pow x (n-1);;

val pow : int ->int ->1nt = <fun>

# pow 3 10;;

- int = 59049
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fHd»AHDIEIL (4)

3
s BEBIREHORERESE
# let rec even x = if x=0 then true
else odd(x-1)

and odd x = if x=0 then false
else even(x-1);;

val even : int -> bool = <fun>
val odd : int -> bool = <fun>
# odd 5423;;

- : bool = true
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s IFEBH2DODRALTIE
Sk&OBEE gcm : int > int = int &=
EET L

sV -5 FDOERRE.
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al = 1

azn=(axa)" [n>0]

aZn+1 = g X (aZn)
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